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Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10
| 1st Month, 2nd Week, 3rd Day |Sub-domain II. Exercise 1.3 Q#4|

Q.1. Choose the correct options. (1x6=6) ) /':«l‘f:'l(.,«l}?u/)
(i) Round =2 23 (3d.p.) to the given degree of accuracy.
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(ii) Find the round off value 3 (2d.p.), we get:
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(2d.p.) to the given degree of accuracy.

- /';)fuc.«/lf’l.wb( f Ljfj)
@] 671 [®| 682 [ 68 |@ 674 |

(iii) Roun

(iv) Round =2 23 (3d.p.) to the given degree of accuracy.
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(@) 3.834 |[(b)| 3.843 |(c)| 3844 (@] 3833 |

(v) What is the round off value 0f (3d p.)
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(vi) Round - (2d.p.) to the given degree of accuracy.
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Q.2.Round the following rational number to the given degree of

accuracy. (1x4=4) -J /Gufbfﬁ;f d»’?wd" ltd: }1O%)

(i) o (3d.p.) (ii) > (5s.) (i) 1 (5s.)

(v) 5@sh)

3
Time: 10 Minutes | Paper Math 8 (T-1) Total Marks: 10
| 1st Month, 2nd Week, 3rd Day [Sub-domain IL. Exercise 1.3. Q#4|

Q.1. Choose the correct options. (Ix6=6) - /...«@:'llfb.«lﬁc/n
(i) Round =2 23 (3d.p.) to the given degree of accuracy.
3

- /G)fuc.«/lf”.wi’;/ fjuf i3
l@| 767 |w| 7777 |(©] 7667 |@] 7767 |

55
(ii) Find the round off value 3 (2d.p.), we get:

55

Il S B o2 5

@] 1834 || 1835 |[(©] 1843 [@] 1833 |
a9

(iii) Roun (2d.p.) to the given degree of accuracy.

- /’Lﬁv—ﬂ/l«’b})ﬂ/ f u'( S
i@ 671 |[w| 682 [ 683 |@ 674 |

(iv)Round =2 23 (3d.p.) to the given degree of accuracy.
6

- /G)fuc.«/lf”.wi’;/ fjuf i3
@] 383 |m)| 3843 |(c)| 3844  |(@] 3833 |

(v) What is the round off value of (3d p.)

-J/Gw.f./wmsf &Jd;
@ 7285 || 7286 [(©] 7393 [@| 7276 |

46
(vi) Round - (2d.p.) to the given degree of accuracy.
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